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SUBJECT — ENGLISH M.M. -20

Q1. Tick the correct option:
1. Who whistles to his mate?
a. Otter b. Badger c. Horse d. Trout
2. What time can one hear the beat of a horse’s feet?
a. Morning b. Afternoon  c. Early morning d. Late evening
3. What does ‘cantering’ mean?
a. Entering b. Centring c. Riding d. walking
4. Who broods in the woods?
a. Trout b. Ring—dove c. Otter d. Badger
Q2. Fill in the blanks with the correct form of the verbs given in the brackets.
. Last night, the neighbours ____ about the loud music. (complain)
. Every morning, he ___ his dog for a walk.
.Doyou thinkit ___ tonight? (Rain)
. Last year, we the Louvre in Paris. (visit)
.He ___ atall possible places, but could not find the keys. (look)
. The phone __ but | did not hear it. (Ring)
Q3. Read the poem and complete the summary.
ago the way through the forest was shut for the .Nowthe  andrains
have opened it again. Now it is overgrown with wild flowers, grass and trees. Only the sees
the bird and animal life there. Yet once in a while on a late horses the beat their
you can hear feet and of skirts. The riders confidently ride on the lost if they know it
perfectly.
Q4. Underline the adjectives in the following sentences and write what kind of adjectives they are.
a) | asked father to buy some fresh exercise for me.
b) His uncle lived on the third floor of the building in his locality.
¢) Do you have any solution to the problem?
d) She had a brilliant accent but it often sounded.
e) We had enough t | to offer our neighbours.
Q5. Correct the following sentences.
a) There are much changes in my daily schedule.
b) The less food that we were left with turned sour in the heat.
c¢) The teacher had many patience to deal a naughty boy like Tony.
d) I don’t think we have more petrol in the car to reach home.
e) What frock would you like to wear tonight?

SUBJECT — MATHS M.M. -20

Q1 Convert 24/50 into percentage.
Q2 Convert 248% into fraction.
Q3. Convert 45:25 into percentage.
Q4. Convert 0.34 into ratio.
SUBJECT - SCIENCE M.M. - 20
Q1. Define (a) fertilisation, (b) metamorphosis
Q2. Some women are not able to have babies. Why? How can doctors help them?

Q3. What is the cause of diabetes? Why do diabetics feel weak and tired most of the time?
Q4. Why do you think sex determination of the foetus has been banned in India?
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Q5. State the symptoms of these disorders: (a) Cretinism, (b) Goitre

SUBJECT - SOCIAL SCIENCE M.M. -20

Q1 What is meant by trans humans?

Q2 Why is agriculture an important occupation throughout the world?
Q3 What is crop rotation?

Q4 Differentiate between subsistence and commercial farming.
Q5 Write a note on intensive farming.
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